
www.chemfeed.nl                                        info@chemfeed.nl                              Tel: +31 (0) 88 022 5350 
 

    PARTS LIST 

 
 

Note: The 1” High Flow Valves use the same internal parts 
as the standard 1 ½” Valves. 
The Part #’s BP/PRHF100_ has 4.5” bottom diameter. 
The Part #’s BP/PRHF105_ has a 5” bottom diameter. 
 
 

ITEM DESCRIPTION PART # 

1 1/4 - 20 X 2 3/4" Bolt - 1/2 – 3/4" Plastic Valves 
5/16 - 18 X 1 1/2” Bolt - 1” Metal Valves 
1/4 - 20 X 5” Bolt - 1” Plastic Valves (4.5” & 5” OD) 

1/4 - 20 X 1 1/4" Bolt - 1/2 - 1" Metal Valves 

PV-00101 
PV-00102 
PV-00105 
PV-00108 

2 
 

1/4 - 20 Cap hex nut 
 

PV-00202 

3 1/4 Flat Washer (Required with 316 SS Top 1/2" – 3/4") 
5/16 Flat washer (Required with 316 SS Top 1”) 

PV-00302 
PV-00303 

4 1/2" – 3/4" Valve Top – Noryl. Black 
1/2" – 3/4" Valve Top – Noryl, Orange 
1/2" – 3/4" Valve Top – Noryl, Yellow 
1/2" – 3/4" Valve Top – Noryl, Green 
1/2" – 3/4" Valve Top - 316 SS 
1” Valve Top – PVC, Black (For 4.5” OBS Body) 1” 
Valve Top – Noryl, Black (for Plastic 5” Body) 1” 
Valve Top – Noryl, Black (for Metal 5” Body) 

PV-004451 
PV-004452 
PV-004053 
PV-004054 
PV-00407 
PV-00411 
PV-004175 
PV-004171 

  
BPV # PRV # 

5 1/2" Valve Body High Flow, PVC 1/2" 
Valve Body  High Flow, PP 1/2" 
Valve Body High Flow, PTFE 1/2" 
Valve Body High Flow, PVDF 1/2" 
Valve Body High Flow, 316 SS 
1/2" Valve Body High Flow, Alloy 20 
1/2" Valve Body High Flow, Hast C 
1/2" Valve Body High Flow, CPVC 
3/4" Valve Body  High Flow, PVC 3/4" 
Valve Body High Flow, PP 
3/4" Valve Body High Flow, PTFE 3/4" 
Valve Body High Flow, PVDF 3/4" 
Valve Body High Flow, 316 SS 3/4" 
Valve Body High Flow, Alloy 20 3/4" 
Valve Body High Flow, Hast C 3/4" 
Valve Body High Flow, CPVC 
1" Valve Body High Flow, PVC (4.5” OBS) 
1" Valve Body High Flow, PP(4.5” OBS) 
1"  Valve Body  High Flow,  PTFE(4.5” OBS) 1"  
Valve Body  High Flow,  PVDF(4.5” OBS) 1" 
Valve Body High Flow, 316 SS(4.5” OBS) 
1" Valve Body High Flow, Alloy 20 (4.5” OBD) 
1" Valve Body High Flow,  Hast C(4.55” OBS) 
1" Valve Body  High Flow,  CPVC(4.55” OBS) 
1" Valve Body High Flow, PVC (5” OD) 
1" Valve Body High Flow, PP(5” OD) 
1"  Valve Body  High Flow,  PTFE(5” OD) 1"  
Valve Body  High Flow,  PVDF(5” OD) 1" 
Valve Body High Flow, 316 SS(5” OD) 
1" Valve Body High Flow, Alloy 20 (5” OD) 
1"  Valve Body  High Flow,  Hast C(5” OD) 
1" Valve Body High Flow, CPVC(5” OD) 

BPV-00511HF 
BPV-00512HF 
BPV-00513HF 
BPV-00514HF 
BPV-00515HF 
BPV-00516HF 
BPV-00517HF 
BPV-00518HF 
BPV-00521HF 
BPV-00522HF 
BPV-00523HF 
BPV-00524HF 
BPV-00525HF 
BPV-00526HF 
BPV-00527HF 
BPV-00528HF 
BPV00531HF 
BPV00532HF 
BPV00533HF 
BPV00534HF 
BPV00535HF 
BPV00536HF 
BPV00537HF 
BPV00538HF 
BPV-50531HF 
BPV-50532HF 
BPV-50533HF 
BPV-50534HF 
BPV-50535HF 
BPV-50536HF 
BPV-50537HF 
BPV-50538HF 

T
W

O
 P

O
R

T
 C

O
N

F
IG

U
R

E
D

 H
IG

H
 F

L
O

W
 V

A
L

V
E

 

U
S

E
S

 B
P

V
 B

O
D

Y
 

6 Pressure Spring - 1/2" – 3/4" Valve; 150 psi Pressure 
Spring - 1/2" – 3/4" Valve;  50 psi Pressure Spring - 
1/2" – 3/4" Valve; 250 psi Pressure Spring - 1/2" – 
3/4" Valve; 350 psi Pressure Spring - 1/2" – 3/4" 
Valve; 100 psi, 316 SS Pressure Spring - 1” Valve; 
150 psi 
Pressure Spring - 1” Valve; 50 psi 

PV-00602 
PV-006021 
PV-006023 
PV-006122 
PV-00602S 
PV-00603 
PV006033 

7 Support Disc - 1/2 – 3/4" Valve, PVC 
Support Disc - 1/2 – 3/4" Valve, 316 SS 
Support Disc - 1” Valve, PVC 
Support Disc - 1” Valve, 316 SS 

PV-00705 
PV-00706 
PV-00707 
PV-00709 

8 Diaphragm - 1/2" – 3/4" Valve - PTFE / EPDM 
Diaphragm - 1/2” – 3/4” Valve – Viton 
Diaphragm - 1/2" – 3/4" Valve - PTFE / Viton (High Temperature) 
Diaphragm - 1” Valve – PTFE/EPDM (4.5” OBS Body) Diaphragm 
- 1” Valve –Viton (4.5” OBS Body) 
Diaphragm - 1” Valve – PTFE/EPDM (5” OD Body) 
Diaphragm - 1” Valve – Viton ( 5” OD Body) 

PV-00810 
PV-00812 
PV-00813 
PV-00820 
PV-00821 
PV-00830 
PV-00831 

9 Adjustment Screw - 1/2” – 3/4” Valve PET (white) 
Adjustment Screw - 1/2” – 3/4” Valve Coated Steel 
Adjustment Screw - 1” Valve PET (white) Adjustment 
Screw - 1” Valve Coated Steel 

PV-00906 
PV-00903 
PV-00926 
PV-00921 

10 
 

Protective Vinyl Cap- 1/2” – 3/4 ” Valves 
Protective Vinyl Cap- 1” Valves 

PV-01001 

PV-01002 

http://www.chemfeed.nl/
mailto:info@chemfeed.nl

